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國立臺南護理專科學校 102 學年度第二學期 二年級轉學考英文科試卷 

(試卷收回，答案請寫在電腦卡上) 
 

一、文意字彙 (每題 2 分，共 30 分) 

  1.(   ) Vicky suggested to Bob that he _______ himself while he rehearsed the play. 

(A) poke   (B) fail   (C) overplan   (D) videotape 

  2.(   ) Mary has been kept _______ on a life-support system for years, but her family still believes that she will wake 

up someday. 

(A) juicy   (B) salty   (C) alive   (D) crispy 

  3.(   ) Don't _______ my intelligence with these careless lies. Just tell me the truth. 

(A) insult   (B) outrage   (C) trigger   (D) startle 

  4.(   ) It is hard to regard a man as looking neat enough if he doesn't trim his _______ every day. 

(A) width   (B) fashion   (C) energy   (D) beard 

  5.(   ) What is the reason why she appears so old _______? 

(A) overnight   (B) despite   (C) simply   (D) mostly 

  6.(   ) They want to give their children the best education that they can _______. 

(A) reel   (B) afford   (C) empty   (D) plead 

  7.(   ) Mr. Lin is _______ running away from the jail. 

(A) ranging   (B) preferring   (C) considering   (D) receiving 

  8.(   ) The old woman was shouting _______ at whoever walked past her. She's mentally ill. 

(A) arrows   (B) insults   (C) breaths   (D) whispers 

  9.(   ) Stay calm! _______ doesn't help at all in an emergency. 

(A) Panic   (B) Cram   (C) Bit   (D) Likelihood 

 10.(   ) Nowadays, everyone can become a _______ by writing a blog of her/his own. 

(A) popularity   (B) animation   (C) symbol   (D) celebrity 

 11.(   ) William's father _______ him with a camera while he was on stage. 

(A) videotaped   (B) focused   (C) emphasized   (D) established 

 12.(   ) In a fit of anger, the general declared war and _______ all soldiers be fully armed, heading for the battlefield. 

(A) demanded   (B) faced   (C) represented   (D) served 

 13.(   ) By donating 1000 dollars a year to the poor child overseas, you're _______ a seed of hope and it may become a 

huge tree someday. 

(A) accumulating   (B) planting   (C) preventing   (D) absorbing 

 14.(   ) The doctor is undergoing an experiment of attempting to treat patients with _______ personalities. 

(A) warm   (B) aggressive   (C) paradoxical   (D) abstract 

 15.(   ) Since I had given you the enough evidence of it, you should no longer come to a _______ conclusion like this.  

(A) deep   (B) violent   (C) lost   (D) paradoxical 

 

二、語法測驗 (每題 2 分，共 20 分) 

 16.(   ) The Wang family _______ used to live on this street a few years ago, are moving back from Seattle. 

(A) , who   (B) , that   (C) which   (D) who 

 17.(   ) The Shihlin big sausage looks like a hot dog, but is _______ bigger. 

(A) much   (B) very   (C) than   (D) such 

 18.(   ) His poems are easy _______. 

(A) to reading   (B) read   (C) reading   (D) to read 

 19.(   ) It is tiring for Mark to _______ with his new supervisor. 

(A) deal   (B) dealing   (C) dealt   (D) deals 

 20.(   ) Finishing the report took me _______, so I stayed up late last night. 

(A) long than I had expected     (B) more long than I had expected 

(C) than I had expected longer   (D) longer than I had expected 
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 21.(   ) Ginger is said to _______ able to relieve sore or itchy throats. 

(A) being   (B) be   (C) has been   (D) will be 

 22.(   ) The king _______ have sent the prince to the neighboring country on a mission in secret. 

(A) has a bite of   (B) comes alive   (C) begins with   (D) is said to 

 23.(   ) John _______ accept your offer when he is available. 

(A) in contrast to   (B) picks up   (C) lies in   (D) may well 

 24.(   ) The success of her study _______ the fact that she enjoys expanding her knowledge through reading. 

(A) lies in   (B) in contrast to   (C) in other words   (D) pick up 

 25.(   ) The tickets have been sold out for a couple of hours, _______, the show is going to rock the city. 

(A) in contrast to   (B) may well   (C) in other words   (D) rather than 

 

三、綜合測驗 (每題 2 分，共 30 分) 

     (26~30)  In the modern world, there are various ways for people to find their ideal love. __26__, online dating is 

quite popular right now. With the popularity of the Internet, it is no wonder that people would turn to the virtual world to 

__27__ for love. However, there are certain dangers hiding behind the online dating. People cannot really know who they 

are dating. It means that people cannot actually know each other's __28__. In a situation like this, you have no way to 

make sure __29__ you are dating someone who is __30__ or not. Therefore, in terms of online dating, people should be 

always watchful. 

(   ) 26.(A) One way or another   (B) Before long   (C) As far as   (D) For instance 

(   ) 27.(A) search   (B) define   (C) lose   (D) regard 

(   ) 28.(A) violence   (B) essence   (C) purity   (D) warmth 

(   ) 29.(A) or   (B) with   (C) and   (D) whether 

(   ) 30.(A) violent   (B) metaphorical   (C) warm   (D) incomplete 

 

 (31~40) The different types of love that exist－impersonal, interpersonal, romantic, friendship __31__, and 

unconditional－are expressed in the many symbols humans __32__ the word－love. Love symbols are used to speak 

__33__ a person to express __34__ that person feels for someone __35__. Different cultures use different symbols to 

express love __36__ how they interpret the term. In Hebrew, __37__, a symbol for love is called the "ahava."  

     Jewelry is __38__ a symbol of love because it is a tangible recognition of the love two people share. Another 

symbol of love is poetry that examines love as its subject matter. And roses often signify passion and love __39__ is why 

love poetry often references roses. __40__ their connection to the term－love, roses are also often given as a gift to a 

loved one on a special occasion. 

(   ) 31.(A) abstract   (B) based   (C) breathed   (D) entitled 

(   ) 32.(A) attach to   (B) look forward to   (C) fall into   (D) search into 

(   ) 33.(A) on and on   (B) on occasion   (C) on behalf of   (D) on demand 

(   ) 34.(A) when   (B) which   (C) how   (D) that 

(   ) 35.(A) else   (B) one   (C) who   (D) person 

(   ) 36.(A) looking upon   (B) regarding as   (C) standing out   (D) depending on 

(   ) 37.(A) for certain   (B) even if   (C) even though   (D) for instance 

(   ) 38.(A) desired   (B) flushed   (C) searched   (D) considered 

(   ) 39.(A) when   (B) which   (C) how   (D) what 

(   ) 40.(A) As a result for   (B) Because of   (C) As good as   (D) As for 

 

四、閱讀測驗 (每題 2 分，共 20 分) 

    (41~45) Skin cancer, although it seems harmless, can be quite deadly if it is not treated early. Cancer develops when 

the DNA in cells become damaged beyond repair. This damage causes the cells to grow and divide at an uncontrollable 

rate. When this damage occurs in the skin and the skin cells grow and divide uncontrollably, it is called skin cancer. The 

damaged cells continue to multiply and eventually become a tumor. Sun exposure seems to be the main reason why skin 

cancer develops. The American Cancer Society has stated that most of the one million cases of skin cancer diagnosed 

each year could have been prevented with proper sun protection. 
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(   )41. Skin cancer  _______. (Choose a wrong answer.) 

(A) is deadly if not treated early               (B) develops when DNA repairs itself 

(C) occurs when the cells grow uncontrollably    (D) may cause a tumor 

(   )42. The word "multiply" is similar to _______. 

(A) reduce   (B) crease   (C) decrease   (D) increase 

(   )43. What is meant by "beyond repair"? 

(A) Something that can't be repaired.         (B) Something that can be repaired soon. 

(C) Something that can be repair by itself.     (D) Something that can be repaired in time. 

(   )44. Most of the cases of skin cancer can be prevented if _______. 

(A) the skin cells grow and divide uncontrollably    (B) people have protection against sun exposure 

(C) DNA is damaged beyond repair               (D) skin cancer is not caught in time 

(   )45. According to this article, which of the following is FALSE? 

(A) Skin cancer can be prevented with proper sun protection. 

(B) Sun exposure is the main reason why skin cancer develops. 

(C) Skin cancer makes the skin and the cells grow and divide controllably. 

(D) The American Cancer Society suggests that people use sun protection. 

 

(46~50) In the United States, size zero is a women's clothing size, roughly equivalent to a size four in the UK or a 

size 32-34 in the rest of Europe. It is considered to be a very small size. Recently, in the European fashion industry, size 

zero has come to be regarded as a strictly negative concept and has received a lot of bad publicity. 

     In Spain in 2006, the organizers of Madrid Fashion Week banned the participation of models who had a body mass 

index (BMI) of less than 18, which more or less corresponds to size zero. A person's BMI is their weight-to-height ratio, 

and a BMI of less than 18 is perceived as unhealthy by the World Health Organization (WHO). 

     There has been much debate concerning the possible effects on easily influenced teenagers of the use of 

underweight models by the fashion industry. The wish to attain a size zero has been linked to health conditions such as 

anorexia nervosa. In order to become so thin, many young women have to lose a lot of weight, and that is where serious 

problems may begin. 

     Not long ago, a model called Luisel Ramos, aged 22, died of a heart attack after trying to live on just Diet Coke and 

lettuce leaves. Her death was blamed on inadequate nutrition and, indirectly, the size zero trend. Brazilian model Ana 

Caroline Reston also died after suffering from anorexia nervosa. She had tried to lose weight by eating only apples and 

tomatoes. 

(   ) 46. What does the passage tell us about size zero? 

(A) It is smaller in the US than in Europe.        (B) It is about the same as a size 4 in England. 

(C) It only exists outside the United States.       (D) It is the smallest size in Europe and the UK. 

(   ) 47. People in the fashion industry think size zero _______. 

(A) is the best size for a model        (B) is not a healthy size to be 

(C) should be changed to size four.     (D) makes women look too tall 

(   ) 48. A person's body mass index refers to _______. 

(A) the size of clothing that they should wear      (B) their weight when they reach age 18 

(C) their weight in relation to their height         (D) their weight in relation to the average 

(   ) 49. Why has the fashion industry received criticism? 

(A) It has encouraged unhealthy behavior.         (B) It won't employ size zero models. 

(C) Most of its models are too large.              (D) It causes teenagers to spend too much. 

(   ) 50. We can infer that Luisel Ramos and Ana Caroline Reston? 

(A) did not want to lose weight        (B) had a BMI of more than 18 

(C) worked for the WHO             (D) suffered from anorexia 

 

 


